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Answer all the questions

Wrong answers will be penalized.
I. Rename this file with your first and last name.

II. Only the answers on this word file will be graded.

III. Write your first and last name to the footer.
IV. Save the file on your computer (temporary directory of your computer)

V. ,α=0.05, unless otherwise mentioned.
VI. Do not forget to upload this word document to the system.

Write your name here : 
________________

Use the Eviews file midterm3.wf1   Consider the following model
Logwagei = β0 + βe experiencei + βt  trendi+ β1 E1i + β2 E2i +ui

Where 
Logwage is the logarithm of a wage of an agent


Ability is potential experience of an agent


Trend is trend line for each agent.


E1 is the dummy variable and takes value of one if an agent has 12 years or less than 12 years of education, and zero otherwise. (E1 = 1 if education≤12; 0 otherwise)


E2 is the dummy variable and takes value of one if an agent has more 12 years of education but less than 17 years of education and zero otherwise. (E2 = 1 if 12<education≤16; 0 otherwise)


E3 is the dummy variable and takes value of one if an agent has more than 16 years of education  and zero otherwise. (E3 = 1 if 16<education; 0 otherwise)

For the exam be sure that you write the null and alternative hypotheses; Report the estimate of the unrestricted and restricted models; its test statistics and conclusion of the test statistics.
1. Education does not matter

2. 18 years of education worth as much as 10 years of education on wages
3. 18 years of education worth as much as 14 years of education on wages
Let
W1 is the dummy variable and takes value of one if an agent has at least 12 years of education, and zero otherwise. (W1 = 1 if education ≤12; 0 otherwise)

W2 is the dummy variable and takes value of one if an agent has 16 or less than 16 years of education, and zero otherwise. (W2 = 1 if education ≤16; 0 otherwise)

And we estimate the following model 

Logwagei = α0 + αe experiencei +αt trendi + α1 W1i + α2 W2i +ui
4. 18 years of education worth as much as 10 years of education

5. 18 years of education worth as much as 14 years of education

6. Do your answers in change 3 versus 5?  What is its reason?

Consider
Logwagei = γ0 + γe experiencei + γt  trendi+ γ2 E2i + γ3 E3i + γe2 experiencei E2i+ γe3 experiencei E3i+ui
7. 18 years of education worth as much as 10 years of education [Hint: unlike the previous examples where only the intercept terms are equalized here the coefficients for both intercept terms and slope terms should be equalized]
8. 18 years of education worth as much as 14 years of education

Consider

Logwagei =  (e experiencei + (t  trendi+ (1 E1i + (2 E2i + (3 E3i +ui
9. 18 years of education worth as much as 10 years of education

10. 18 years of education worth as much as 14 years of education.
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